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MATHEMATICS e Pkt

VA S MA s 5o J 1. The age of Ram's son is 1/3 of his wife. The age
of Ram’'s wife is 4/5 of Ram's age and Ram's age

17 6 - Sey 3 -
pld-"» = TRD o 3y is 3/5 of his father's age, find the age of Ram's

#

son if Ram's father is 50 year old.

e?\‘n@ w 3 -g,é.ey\i 52
INd YT Qp- \:& K
s R“g >, Y 31 31 e 6t 3 i 3/5 ) At 2rer & g it 3y
— | sra&ifae, afd 2rer & fdar &t 3my 50 af -
((A)8yr/a¥ ) I
(B) 10 yr/ o
(c)2yr/ad
(D) 6 yr/ad

21e & A it 301 7 Y Ut Y 3y 113 1 27
&t ucsht Bt 3y 2re i 3y Hit 4/5 P i 7 Hi
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By Pradeep Sir

3
(Ss3-() 2.1 (5v5x° — 3v3y?) + (Vx — V3y) = (Ax? +
(N5z-539) By? + Cxy), then the value of (3 A + B — VI5()

& +3- )€

37\5 + 3‘)]5‘)\3|s

= (3

M(‘Sz 4-3}_‘]"5.13 uﬁ(s\/gx3 - 3\/§y3) % (\/gx . \/'3'},) - (A‘xJZ 3
%3 By? + Cxy) 8l (34 + B — V15C) &1 AT SATd He|

Safa Bty [(W3) (aibfoat iBara a)
A5 = (3)‘2 (a-5)" =a® +43-2an a-b)
&:3 (©)8 (53,2 (asb) (A2 48 an)
(= Jis (D)5 ( )(

Cod ) = (a-b) (@2+89h)
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3. The average of 20 numbers is 12. If the

ﬂ

average of first 12 numbers is

11 and the average of next 7 numbers is 10.

Then find out the last number?

20 TE3Y BT 3AA 12 1 U3t 12 A&134Y BT
D B =» g T

A 1 %aanmraﬁ?\mmaﬂshmm r4

3ifdar d& gft 2

e VRN
— L B NTN
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By Pradeep Sir

egree of Cost incurred in different Expenditure (Total ¥ 4,50,000)
FeP1-Ae WA | wFa F T (e € 4,50,000)

36

Steel/ T

Cement/ HTH=

Brick/ 32

Labour/ A8
Miscellaneous/Taia49 &=
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By Pradeep Sir

G. In the given pie-chart, what is the total
expenditure (in percent) on labour
fée are urd a1 (pie-chart) &, S/ 2[ch U
P g (vfdera &) faan g 2
(A) 25%
(B) 20%
(C)18%
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6. Two friends start travelling at the same time with a

speed of 5 km./hr. and 7 km/hr respectively from two
different cities located at 40 km. away from each other.

Accordingly, how much time will it take to meet each
other? -

& = 40 faseit 3¢ & 2 falost ereel & vep &1 Hora we asam ey
HD, wqaiﬁmsi%aﬁlumaemﬁﬁﬂlumﬁvﬁa
T&d §l deefar A faa Hera are ve gae & A areal 2

A)3hourlm Rs= ‘&k“\“\.

(B) - hourl
(c) 5 hour m “\Q’"

(D) = ~ hour [ 902
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9. The LCM of 4 nos. is 117 and HCF of each
pair is 3 then find the product of all the

numbers. —

4 HEAT3HT BT S.4.9. 117 AT 357 TS GIA

BIAATL3EA, A 3o Toft sz I[OTT ST
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10. The angle of a rhombus of side 28 cm is

60 degrees, find the length of the larger
diagonal.

28 A, a1 AT HArAqa{ BT BT 60 M 2
a2 fAevi Hit Fard sira H2
(A) 28cm

(C)28vzem
(D) 28(1+ V3 )em
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11. On a certain date, Pakistan has a success rate of
60% against India in all the ODIs played between the
two countries. They lost the next 30 ODIs in a row to
India and their success rate comes down to 30%.

The total number of ODIs played between the two
countries is

wﬁ@ammz’taan%aﬁaaﬁmmﬁw

ﬁaaﬂua\a’fﬂmﬁmaﬁmasw%maz
@amz}msowﬁaﬁaﬂa‘mmm
\31e 312 I5Tdhl ABar a2 e B2 Bo% 22 Igietel 22 &
dta @3 o1e ves Rata Fat it $ dem aarzr|
(A)s0 ~ (B)45

(p) 30
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12. If x is a real number x_“ - x*= 2626 then

how many values possible of x.

afe x v arEdafds & & ot Fftseor xn -
x* = 2626 B2 dl x b A fhda AT A3 21 -
A)B

¥ o3
- XYy - ;T - QCQ
-

13- S-
(c)2 TTEX

(D)9
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13. A, Band C invest in a business in the ratio 4: 5: 7.

C is a sleeping partner, so his share of profits will

=

be half of what it would have been if he were a

working partner. If they make Rs 36,000 profit of

which 25% is reinvested il; the business, how much

p—

does B get (inRs)? e -
A, Bal'rzca’tﬁi'aﬂﬁﬂﬂaﬂamaiwma’fﬁaer

fasani ¢ AT Urdste & 3ra: IaT e 36 R &1
mz’lmmazammammﬁﬁasooo
Mmmmm%maazs%ﬁm&ga
ﬁéalméﬂ?a’tawm (aat &)

(A) 7560

(c) 8640 (D) 9200
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By Pradeep Sir

14. 0.25 of x = 30% of y Find ——-2 =?
3x-3y

X @1 0.25 = y BT 30%. SITd Hel

(A) 5:12

(B)n:s > RACts

2x+y
3x-3y

(c) 4:13 3*\@3;3‘

(D)12:5

=?
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Se 16. An article is sold for x. If it is sold at

33:% of this price, there is a 3 loss of 20%.

v S —

What is the percentage profit when it is

le — sold forx ?
#2135 | oo g A et et 3
4 e x | afe 55 Hiera & 33;
\% U2 3& &1 HTE, a‘lzo%aﬁgﬁmﬂzma
Fagt 53 2 x U2 AT AT & A Wfderd o AT R 2
NN

(B) 25%

(C) 30% (D) 20%
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17. Between two railway stations the fare of Ist, 2nd and

EE——

3rd class are in the ratio 8 6:3. But later on the fare of Ist
and 2nd class is decreosed by 1/6 and 1/12 respectively.

D e

In one year the no. of passengers of Ist, 2nd and 3rd
class are in the ratio for 4: 9:24. If total tickets

amounting 359600 are sold then find the fare of all 3rd

class.

A ¥ma Rerell & ot vea, ffdia sk gedta sioft & fderd &
warel: 1/6 HIIT ol 1/12 T it Heft He & edt vp af A
e, ﬁaﬂuaenqmumasmﬁzﬁﬂmﬁa 9:24 W1
Wmmmﬁmz%amuzgmz_zsssooﬂsﬁmﬁ&saan
it $ifore & et sioft A fsas faseran wra fan srn 2
(A) 6400 (8)170800

(c)18800 (D) 172800




MATHEMATICS
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18. If the rate increases by 2% the simple
interest received on a sum of money
increases by 108. If the time perlod is
increased by 2y years, the simple interest
on the same sum increases by 180. Find
the sum?

afe a2 2% ¢ ATt &, at ves AR esrere g
U d HIEMEUT &arA 2 108 3ifele 3mar 21 afe
FATTafe) &t 2 af ger 3T wrd at 32 sereifel
qzmmmmzlsouﬂaim% ar
FHSEE SATd HifAT ?

(A) 2540

(B) 2 415

(S EL
D) Data is not sufficient
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19. Find true or false-
BITH HASA A | HT &-
(1) vViz > V16 > V24

(n) V25 > V32 > V48
(m) V9 > V15 > V24

(A) All are correct

(B) (1) & (11) correct & (1) incorrect
(c) (1) & () correct & (I1) incorrect
(D) (1) & (1) incorrect & (1) correct
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21. If sec6 =4x and tanf =-,(x # 0) then

the value of 8 (x”- - l) is:

x2

39T secO = 4x 3MIT tan6 ==, (x # 0) r ||

8 @)mm%:
SPC?-@-{Q”\ZQ: '

(A) - (B)

(D)



MATHEMATICS

¢ 4——@ +@: (0D
22. A and B together can do a piece of work in
1 10 days. B and C together can do it in 15 days
Y b*’@ =153 while C and A together can do it in 20 days.

They work together for 8 days and A & B left

3 4-@-!-@ = 0D the work. C alone will complete the remaining
RO [t N
T ‘ } A3ilZB HIA B 10 T |

3 ACA+re+) CsxB = 5 | pads o Biose 32t B9 @1 15 ool A B2 T5a £

By Pradeep Sir

——

. S wiafe C 302 A fAo®e 38 20 Rt A B¢ d®a 213

R ss = | =eft 8 R % v T FHTeA Hed § AAT 3G A1 A

Lc 0. 312 B B Blgebe 7S A1 £1 C 3HbeS 2N B &Y
as C =8 fdaat fasit A qerseom 2

(A)12days  (B) 3:days

Q (c)1e days) (D) 5; days




